A 6% — 7a% + 17x - 32 3x - 22 Uie 52 O(x), YHAE R
ozt & ui, 0(1) + RS gk F-atolet.

> E

> =gt 13

6x3 —7x2+17x -3 = (3x-2)0(x) + R
FH x =12 HASHH, 13 = Q(1) +R
~ O(1)+R=13

6x3 —Tx2 +17x - 32 3x—22 AA AU 2 HAHE o] &

ste] Bot A1 78 4 Uk




SA B +x-1=(x-a)(x-b)(x-c)7t F5AL

of g o2

@® 2 @ 5 @3 @ 7

B

|

— (x—a)(x=B)(x—0)
=x3—(a+b+c)x® + (ab + bc + ca)x — abc
La+b+c=0, ab+bc+ca=1, abc =1
a’ + b3 + ¢3 — 3abc

= (a+b+c)(a®+b*+ c? —ab — bc - ca)
Lat+ b+ =3




xol BAo] 2 —% 7} A} AA G ghe HA o, A4 g, bol| st

Do) gren
a

@1 2)2 ® 3 @ 4 ® 5




4.

¥ -x2+2=a(x-p)2+b(x-p)?+c(x-p)7tx°l HeFs

HEE AL g4 b+c+ po G F5HH?

® -1 @)1 ® -2 @ 2

B

1ol x = p & T st
pP-p?+2=0

(p+1)(p*-2p+2)=0.. p=-1

wrebA ol 7l A2
WB-x2+2=a(x+12+b(x+1)2+c(x+1)
FHo x =02 HAUStH 2=a+b+c
“a+btct+p=1

B

a(x—p)® +b(x—p)* +c(x-p)
= (x-p){a(x-p)® +b(x-p)+c}
(x4 1)(x®-2x+2)

FHS BSHE, x+1=x-p,

¥ -2x+2=a(x-p)?+b(x-p)+c

L p=-1

Ex?-2x+2=a(x+1)2+b(x+1)+c
=ax’+ (2a+b)x+a+b+c

a=1,2a+b=-2,a+b+c=2

Lb=-4,¢c=5

gt g=1,b=-4,c=5, p=-1

“a+b+c+p=1




x+y+2=1,2x-y+z=55 UEHot= ZE A x,y,z00 st
ax* + by? + ¢z = 6°] AHL W, 3a + 2b + ¢ 9] A2 ARRI7?

® 12 @ 8 @4 @0 ® -2

~&B ~

x+y+2z=1---@©

2x-y+z=5--Q

O+@: x+z=2=>z7z=2-x

@Ox2-Q: x-y=3=>y=x-3

coax®> +by? +cz2 =6

= ax? + b(x - 3)%2 + ¢(2 - x)?

=(a+b+c)x*— (dc+6b)x +9b+4c =6
= A xy,zol disl Aot H

a+b+c=0, 4c+6b=0, 9b+4c =6

919 Al Aot EH, a=1,b=2, c=-3

L 3a+2b+c=14




